3k W TSR OB R, FEs (3X45) BIAO —fERIK

W T F % i - QLIS 5 # 15mckiE | 15~645% | 65 LI E
b7y # 62,657 | 176,559 | 89,669 | 86,890 | 29,153 | 133,580 | 13,826
#wH » R 3,856 | 11,663 5,878 5,785 2,282 8,706 675
x =1 ] 630 1,997 1,027 970 315 1,539 143
A il Y 179 411 245 166 47 308 56
F # = Y X X X X X X X
pid I my 1,964 5,773 2,889 2,884 806 4,450 517
MR 1 T H 609 1,477 770 707 149 1,111 217
MR N 2 T H 572 1,492 726 766 242 1,035 215
MR A 3 T B 1,810 4,501 2,343 2,158 702 3,350 449
¥e RO BT 5 T H 1,157 3,114 1,615 1,499 389 2,329 396
¥ 15 1] 914 2,665 1,395 1,270 371 2,014 280
STCiELAEL1ITH 313 1,048 522 52 93 870 85
STl LA 2TH 333 1,065 520 545 77 923 65
2Tl LAE3ITH 399 1,277 616 661 142 1,043 92
STl LA 4TH 488 1,576 781 795 204 1,266 106
Tl LAESTEH 353 1,231 611 620 107 1,067 57
ZTTCTiELAE6TH 667 2,329 1,145 1,184 265 1,911 153
% % & 1 T H 393 1,269 642 627 115 1,040 114
£ t & 2 T H 565 1,827 929 898 288 1,385 154
% % & 3 T H 377 1,055 527 528 133 832 90
£ #r & 4 T H 186 590 298 292 141 434 15
£ r & 5 T H 317 1,023 517 506 158 806 59
8k t & 6 T H 460 1,423 717 706 257 1,100 66
8 & 7 T B 154 478 240 238 79 363 36
f£ #t & 8 T H 563 1,983 982 1,001 383 1,536 64
Ko EH»pR1TH 1,796 5,498 2,744 2,754 1,055 4,127 316
EDo &R 2TH 2,180 6,738 3,354 3,384 1,427 4,946 365
= vl Hy 831 2,516 1,322 1,194 446 1,942 128
N H il 333 729 374 355 114 452 163
® A B 1 T H 320 1,000 507 493 151 690 159
® A B2 T H 659 1,625 824 801 195 1,264 166
+ & T 2,076 5,920 3,157 2,763 1,021 4,574 325
E s My 2,484 7,701 3,899 3,802 1,120 5,833 748
s 2 1) 1,040 2,600 1,321 1,279 360 1,964 276
[i] /A w B 969 2,872 1,436 1,436 566 2,179 127
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i T % & LN QI S~ B s 15RERI | 15~645% | 65MLL L
vl my 1,881 5,933 2,986 2,947 838 4,601 494
it 5 HT 321 778 373 405 125 493 160,
it Hy 971 2,696 1,360 1,336 493 1,973 230
it B 1 T H 518 1,123 537 586 126 803 194
£t B 2 T B 512 1,148 566 582 152 837 159
it ®W 3 T H 643 1,524 812 712 277 1,074 173
i3 4 T H 348 952 440 512 113 629 210
{2 5 T B 315 845 399 446 | 125 556 164
it R J X X X X X X X
it "R n 1 983 3,168 1,593 1,575 539 2,493 136
3 R J 2 1,393 4,379 2,177 2,202 792 3,385 202
iz R N 3 623 1,938 962 976 300 1,545 93
it H n 4 796 2,436 1,205 1,231 572 1,782 82
it R n 5 110 332 163 169 77 240 15°
2 5 i 6 605 1,916 974 942 300 1,476 140
it oA J 7 814 2,237 1,124 1,113 326 1,761 150
it B 8 671 2,167 1,053 1,114 337 1,716 114
it R J 9 1,102 2,993 1,472 1,521 646 2,208 139
# R W 1 T H 1,303 3,377 1,711 1,666 541 2,542 294
# %k W0 o2 T H 788 2,084 1,054 1,030 276 1,538 270
¥ Bk W 3 T H 1,304 3,492 1,792 1,700 508 2,574 410.
¥ o5k N 4 T B 1,608 4,329 2,148 2,181 684 3,192 453"
¥ ik W 5 T H 3,023 8,234 4,126 4,108 1,441 6,031 762
= @k B 6 T H 881 1,983 1,013 970 212 1,478 293
HEA® LT H 1,061 2,372 1,288 1,084 494 1,836 42,
kR A® 2 T H 1,671 3,732 2,055 1,677 802 2,845 85
HOE XS 3T H 1,010 2,331 1,263 1,068 461 1,784 86
HEkR AW 4 T H 277 688 383 305 137 515 36
B EARM S T H 819 1,735 976 759 381 1,323 31
HE KM 6 T H 560 1,232 693 539 246 952 34
HE AR 7T T H 1,306 3,178 1,717 1,461 636 2,437 105
A 1 T H 842 1,898 958 940 165 1,457 276
M At 2 T H 296 |. 523 288 235 52 435 36
=% KA 1T H 582 1,867 942 925 385 1,387 95 |
"% KA 2 T H 223 582 300 282 95 448 39
2% KHE 3T H 294 842 391 451 64 665 113
"B KA 4 T H 332 925 462 463 96 711 118 |
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B T 7 % R~ G B R~ 4 L 1’8 15K | 15~645% | 658 L. L
1 =] i 1,266 3,722 1,850 1,872 549 2,785 388
i1 =i = 569 2,074 1,028 1,046 527 1,463 84




